Area Approximation Methods

Chapter 5



Suppose you are driving to Pitt for a college visit. You record
your speed (miles per hour) at various times (hours.) Assume
thatv=0fort=>0.
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Left Rectangular Approximation
Method (LRAM)
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Right Rectangular Approximation
Method (RRAM)
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Midpoint Rectangular
Approximation Method (MRAM)
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Trapezoidal Approximation
Method (TRAP)
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O‘L‘,Simpson’s Rule (SIMP)
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What if some of the data is missing?
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Approximate with all methods using 4 subintervals of equal
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Homework:

Section 5.1 — Area Approximation
Methods WS



